

Cross Border Community Eye Care Program Free The Oppressed Report – July -2022

The community eye care program, Free The Oppressed—by continually providing eye screening and treatment in the Karen state. along Thai and Burma border. Due to the political instability across Burma ,Even though we are in a hard time from civil war and a disturbance of the Covid-19 pandemic, any time we organized the eye mission, we received a lot of patients coming from different regions to assess the treatment. although the fighting is happening near their area and the journey is not safe However with the hope they try to come till arriving at our plan.

Earlier we had a discussion with Mae La Camp leader to arrange an eye mission and the plan had been implemented .However for the later discussion we had to postpone the mission because the thai authority rejected our request but we had to find another way people in camp can received the eye care, because many eye problem in camp.

August 2022 only one month I will take holiday and prepare the next eye mission before the end of 2022.

(1) Eye Mission Schedule July - 2022 To The Cross Border Clinic And Klaw Taw Pastor Andemal Church

Number of IOL	Location	Date Arrive	Date start Consultation	Day
100- IOL	Cross Border Clinic	4 / July/ 2022	4 To 9 -2022	6 day
50 – IOL	Klaw Taw Thai Side Pastor Edemal	18 July 2022	18 To 21 – 2022	5 Day

The Eye Program (Eye Mission) Need More Order Eye Equipment, Now We Have A few Eye Equipment In Stock

No	Equipment Name	Stock	Order	Price	Amount
1	Intraocular Len	100	200	750	159,000 Baht
2	Surgical Suture 10.0	5 Box	10 Box	2500 Baht	25,000 Baht
3	Blue	6 Box	10 Box	150 Baht	1,500 Baht
4	Aurovisc (jelly)	20 Tube	200 Tube	180 Baht	36,000 Baht
5	Tetracaine Hydrochloride	5	20	135 Baht	2,700 Baht
6	Trophen 5ml	10	30	120 Baht	3,600 Baht
				Total	227,800 Baht

(2) Total amount of money we need for eye mission July -2022 see below the chart

No			Amount	
1	Need money for Material (equipment's)		30,000 Baht	
2	Need money pay for medic		15, 000 Baht	
3	Need money for transportation		10,000 Baht	
4	Need money for food		20,000 Baht	
		Total	75,000 Baht	

Total We Need Money For Order Eye Equipment And Eye Mission = 302,800 Baht

(3) Total spending Money for Eye Mission July- 2022

No			Amount	
1	Buy eye Material (equipment)		42,435 Baht	
2	pay for medic		10,000 Baht	
3	Pay for transportation		11,250 Baht	
	Pay for food		20,305 Baht	
	IOL,10,0Surgical,Jelly,Blue,Traphen		218,800 Baht	
		Total	302,790 Bath	

(10 Baht)

s(4)-Operation Chart Cross Border Clinic And Klaw Taw Village Thai Side Pastor Andama Church July - 2022

No	Cause	Male	Female	Total Treat
1	Consultation (Screening)	135	146	281
2	Cataract operation	40	58	98
3	Glaucoma operation	1	1	2
4	Pterygium remove	4	3	5
5	Provide glass	79	82	161
6	Evisceration operation	0	1	1
7	Other Chalazae	0	0	0
8	Squint Eye down	0	0	0

(5) In July - 2022, our eye mission Bang Kler Cross Border Clinic the activity as showed in below picture













(6) we want to enplane about food, some time we need to spending too much money for food when we had the clinic. Because patients coming with out food. see below picture.









(7) <u>In July - 2022, our eye mission Klaw Taw Village Thai Side</u> <u>Pastor Andema Church the activity as showed in below picture</u>















